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QUESTION 1

Which of the following describes the TOGAF Technical Reference Model? 

A. A Common Systems Architecture 

B. A Foundation Architecture 

C. An Industry-Specific Architecture 

D. An Organization-Specific Architecture 

E. A Solution Architecture 

Correct Answer: B 

 

QUESTION 2

According to TOGAF, Which of the following terms is defined as the key interests that are crucially important to
stakeholders? 

A. Concerns 

B. Principles 

C. Requirements 

D. Views 

E. Viewpoints 

Correct Answer: A 

 

QUESTION 3

Which one of the following is NOT an element of an architecture framework? 

A. A common vocabulary 

B. A list of recommended standards 

C. A method for designing an information system in terms of building blocks 

D. A set of structuresWhich can be used to develop a broad range of architectures 

E. A system development lifecycle method for software engineering 

Correct Answer: E 
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QUESTION 4

In the Solutions Continuum, Which of the following is the correct order of Solutions from most-specific to most-generic? 

A. Common Systems, Foundation, Industry, Organization-Specific 

B. Organization-Specific, Industry, Foundation, Common Systems 

C. Foundation, Common Systems, Industry, Organization-Specific 

D. Industry, Foundation, Common Systems, Organization-Specific 

E. Organization-Specific, Industry, Common Systems, Foundation 

Correct Answer: E 

 

QUESTION 5

Complete the sentence. The Architecture Landscape is divided into three levels, Strategic, Segment and
____________. 

A. Baseline 

B. Capability 

C. Solution 

D. Target 

E. Transition 

Correct Answer: B 
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